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QUESTION 1

Examine the FortiMail IBE service configuration shown in the exhibit; then answer the question below. 

Which of the following statements describes the User inactivity expiry time of 90 days? 

A. First time IBE users must register to access their email within 90 days of receiving the notification email message 

B. After initial registration, IBE users can access the secure portal without authenticating again for 90 days 

C. Registered IBE users have 90 days from the time they receive a notification email message to access their IBE
email 

D. IBE user accounts will expire after 90 days of inactivity, and must register again to access new IBE email message 

Correct Answer: D 

 

QUESTION 2

Examine the FortMail mail server settings shown in the exhibit; then answer the question below. 
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Which of the following statements are true? (Choose two.) 

A. mx.example.com will enforce SMTPS on all outbound sessions 

B. mx.example.com will display STARTTLS as one of the supported commands in SMTP sessions 

C. mx.example.com will accept SMTPS connections 

D. mx.example.com will drop any inbound plaintext SMTP connection 

Correct Answer: AC 

 

QUESTION 3

An organization has different groups of users with different needs in email functionality, such as address book access,
mobile device access, email retention periods, and disk quotas. Which FortiMail feature specific to server mode can be
used to accomplish this? 

A. Resource profiles 

B. Address book management options 

C. Access profiles 

D. Domain-level service settings 
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Correct Answer: D 

 

QUESTION 4

Examine the FortiMail archiving policies shown in the exhibit; then answer the question below. 

Which of the following statements is true regarding this configuration? (Choose two.) 

A. Spam email will be exempt from archiving 

B. Email sent from marketing@example.com will be archived 

C. Archived email will be saved in the journal account 

D. Only the marketing@example.com account will be able to access the archived email 

Correct Answer: AB 

 

QUESTION 5

Which firmware upgrade method for an active-passive HA cluster ensures service outage is minimal and there are no
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unnecessary failovers? 

A. Upgrade the active unit, which will upgrade the standby unit automatically 

B. Upgrade both units at the same time 

C. Upgrade the standby unit, and then upgrade the active unit 

D. Break the cluster, upgrade the units independently, and then form the cluster again as quickly as possible 

Correct Answer: D 
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